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INTERNATIONAL INDIAN SCHOOL, RIYADH

FIRST TERM WORK SHEET

Class : VII

Sub: Mathematics 

Chapter 3 – Cubes and Cube roots

	

	1.
	Cube root of the product of two negative integers is a ___________ integer.

	
	

	2.
	3√ – 1     =       _________ .    

	
	

	3.
	Examine if  53240 is a perfect cue.  If not, find the smallest number by which it must be multiplied so that the product is perfect cube.  Also find the smallest number by which it must be divided so that the quotient is a perfect cube.

	
	

	4.
	Find the cube root of  – 2197.

	
	

	5.
	Find the cube root of   9261 x  2197.

	
	

	6.
	Find the cube root of    3375_    . 
                                     4913

	
	

	7.
	Find the cube of      4  –  5_  

                                         6

	
	

	8.
	Give two examples to show that the cube of an odd integer is always odd.

	
	

	9.
	Find the cube root of  531441.
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INTERNATIONAL INDIAN SCHOOL, RIYADH

FIRST TERM WORK SHEET 
Class : VIII

Sub: Mathematics 

Playing with numbers

	

	1.
	0.00000805  can be expressed in scientific notation as __________.

	
	

	2.
	In standard notation                15                  can be expressed as ___________ .

                                          100 00 000

	
	

	3.
	In usual form   6.9  x 10– 6    can be expressed as  ______________ .

	
	

	4.
	The mass of earth is approximately   5.976  x  1024 kg.   Express it in the usual form.

	
	

	5.
	Identify the numbers which are divisible by 10.   

            1625, 17000 , 189005 , 16952 , 18007.

	
	

	6.
	Test the divisibility of the following numbers by 9.

            1256 ,  3,905  ,   10,532 ,   6, 59, 187

	
	

	7.
	Find the distance between two parallel sides of a trapezium if its area is 440 cm2 and the parallel sides measure 30 cm  and 16 cm.

	
	

	8.
	The ratio of the parallel sides of a trapezium is  2:3. The distance between them is 15 cm.  If the area of the trapezium is 600 cm2 , find the lengths of parallel sides. 

	
	

	9.
	The parallel sides of a trapezium are 9 cm and 7 cm long and the distance between them is  6 cm.  Find the area of the trapezium.

	
	

	10.
	One angle of a quadrilateral is  130o   and the other angles are equal.   Find the measure of the other three angles.

	
	

	11.
	Both the pairs of apposite angles of a quadrilateral  are equal and supplementary.  Find the measure of each angle.

	
	

	12.
	Adjacent angles of a parallelogram are in the ratio 2 : 3.  Find all the angles.

	
	

	13.
	In a parallelogram ABCD  ,  (A  is 30o more than (B.   Find the measure of all the angles.
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